


Question 2- A person had a certain amount. He invested 3/5th of it in shares, 

1/8 of it in mutual funds, 10% of it in debentures and kept the remaining Rs. 

525 with him. If got interest at 10% for a year on debentures, what amount 

did he get as interest?

प्रश्न 2- एक व्यक्ति के पास एक क्तिक्तित राक्ति थी। उसिे इसका 3/5 क्तिस्सा िेयरों में, 1/8

म्यचूअुल फंड में, 10% क्तडबेंचर में क्तिवेि क्तकया और िेष 525 रुपये अपिे पास रख क्तलए। यक्ति 

क्तडबेंचर पर एक वषष के क्तलए 10% की िर से ब्याज प्राप्त िोता ि,ै तो उसे ब्याज के रूप में क्तकतिी

राक्ति प्राप्त िुई?
A. Rs 20

B. Rs 120

C. Rs 210

D. Rs 30

E. None of these





Question 3- The ratio of P’s to Q’s earnings is 5 : 9. If Q’s earnings is 

increased by 55%, then his total earnings becomes Rs. 86490.What is the 

earning of P? 

प्रश्न 3- P और Q की आय का अिपुात 5: 9 ि।ै यक्ति Q की आय में 55% की वकृ्ति िोती ि,ै तो 

उसकी कुल कमाई 86490 रुपये िो जाती ि।ै P की कमाई क्या ि?ै

A. Rs 21,100

B. Rs 45,800

C. Rs 53,800

D. Rs 31,100

E. None of these





Question 4- The marks scored by student in three subjects are in the ratio 

2:3:4 and he  scored an overall aggregate of 60% in the exam. If the 

maximum marks in each subject are the same, in how many subjects did he 

score more than 75% marks?

प्रश्न 4- तीि क्तवषयों में छात्र द्वारा प्राप्त अंक 2: 3: 4 के अिपुात में िैं और उसिे परीक्षा में कुल 

60% अंक प्राप्त क्तकए िैं। यक्ति प्रत्येक क्तवषय में अक्तिकतम अंक समाि िैं, क्तकतिे क्तवषयों में 75%

से अक्तिक अंक प्राप्त क्तकए?
A. 1

B. 2

C. 3

D. Cant be determined

E. None of these





Question 5- In a group there are three sub-groups of students as A, B and C. 

Out of the total students in the group there are 30%, 55% and 15% students 

in these sub-group respectively. If 4%, 5% and 6% students of respective 

batches failed then what is the percentage of passed students?

प्रश्न 5- एक समिू में A, B और C के रूप में छात्रों के तीि उप-समिू िैं। समिू के कुल छात्रों में

से इि उप-समिू में क्रमिः 30%, 55% और 15% छात्र िैं। यक्ति संबंक्तित बैच के 4%, 5% और 

6% छात्र अितु्तीर्ष िो जाते िैं तो उत्तीर्ष छात्रों का प्रक्ततित क्या ि?ै
A. 54.55%

B. 87.15%

C. 60.15%

D. 95.15%

E. None of these





Question 6- A company  kept increasing its production by the same 

percentage every year. Find the percentage if it is known that the company’s 

production becomes triples after three years. 

प्रश्न 6- एक कंपिी िर साल अपिे उत्पािि में समाि प्रक्ततित की वकृ्ति करती रिी। यक्ति यि ज्ञात 

ि ैक्तक कंपिी का उत्पािि तीि वषों के बाि तीि गिुा िो जाता ि,ै तो प्रक्ततित ज्ञात कीक्तजये।

A. (
3
3 − 1) × 100

B. (
3
3 + 1) × 100

C. (
3
3) × 100

D. Cant be determined

E. None of these

Anuja owns 6623%6623% of a property. If 30% of the property that she owns is worth Rs. 1,25,000, then 45% of the value (in Rs) of the property is





Question 7- In a mixture of milk and water the proportion of water by weight 

was 75%. If in the 120 gm mixture, 30 gm water was added, what would be 

the percentage of water?

प्रश्न 7- ििू और पािी के क्तमश्रर् में वजि के अिसुार पािी का अिपुात 75% था। यक्ति 120 ग्राम 

क्तमश्रर् में 30 ग्राम पािी क्तमलाया जाता ि,ै तो पािी का प्रक्ततित क्या िोगा?

A. 20%

B. 40%

C. 80%

D. 60%

E. None of these





Question 8- In a college 12% of total students are interested in Science. 3/4th 

of total students are interested in English. 10% of total students are interested 

in Maths and remaining 45 students are not interested in any activity. How 

many students are there in the college?

प्रश्न 8- एक कॉलेज में कुल छात्रों में से 12% क्तवज्ञाि में रुक्तच रखते िैं। कुल छात्रों का 3/4 अंग्रेजी में 

रुक्तच रखते िैं। कुल छात्रों में से 10% गक्तर्त में रुक्तच रखते िैं और िेष 45 छात्र क्तकसी भी गक्ततक्तवक्ति

में रुक्तच ििीं रखते िैं। कॉलेज में क्तकतिे छात्र िैं?

A. 1200

B. 1500

C. 1400

D. 1300

E. None of these





Question 10- 40 litres of a mixture contains 20% alcohol and the rest water. If 8 

litres of water be mixed in it, the percentage of alcohol in the new mixture will be

प्रश्न 10- 40 लीटर क्तमश्रर् में 20% अल्कोिल और िेष पािी ि।ै यक्ति इसमें 8 लीटर पािी क्तमलाया 

जाता ि,ै तो िए क्तमश्रर् में अल्कोिल का प्रक्ततित क्या िोगा?

A. 100%

B. 140%

C. 150%

D. 200%

E. None of these





Question 11- Ratio of the number of male employees to the total 

number of employees in a company is 4:9. If 150 female 

employees left the company, then now the number of male 

employees in the company is 20% more than that of female 

employees, then find the number of female employees in the 

company finally?

प्रश्न 11- एक कंपिी में परुुष कमषचाररयों की संख्या और कमषचाररयों की कुल संख्या 

का अिपुात 4:9 ि।ै यक्ति 150 मक्तिला कमषचाररयों िे कंपिी छोड़ िी, तो अब कंपिी 

में परुुष कमषचाररयों की संख्या मक्तिला कमषचाररयों की संख्या से 20% अक्तिक ि,ै 

तो अंत में कंपिी में मक्तिला कमषचाररयों की संख्या ज्ञात कीक्तजये।

A. 200

B. 300

C. 400

D. 600

E. None of these





Question 12- The ratio between the boys and girls in a school is 9:7. If the boys 

decreased by 30% and the number of girls increased by 20% then number of girls 

now is what percent more than number of boys.

प्रश्न 12- एक क्तवद्यालय में लड़कों और लड़क्तकयों के बीच का अिपुात 9:7 ि।ै यक्ति लड़कों की संख्या

में 30% की कमी िुई और लड़क्तकयों की संख्या में 20% की वकृ्ति िुई, तो अब लड़क्तकयों की संख्या

लड़कों की संख्या से क्तकतिे प्रक्ततित अक्तिक ि?ै

A. 45.45%

B. 55.55%

C. 34.55%

D. 65.65%

E. None of these





Question 13- Ratio of the number of boys and girls in school P is 

5:3 and the number of boys in school Q is 20% less than that of P. 

If the number of girls in school Q is 52% of the total number of 

students in school Q and the total number of students in school Q 

is 1750, then find the total number of students in school P?

प्रश्न 13- क्तवद्यालय P में लड़कों और लड़क्तकयों की संख्या का अिपुात 5:3 ि ैऔर 

क्तवद्यालय Q में लड़कों की संख्या P की संख्या से 20% कम ि।ै यक्ति क्तवद्यालय Q 

में लड़क्तकयों की संख्या क्तवद्यालय Q में छात्रों की कुल संख्या का 52% ि ैऔर 

क्तवद्यालय Q में छात्रों की कुल संख्या 1750 ि,ै तो क्तवद्यालय P में छात्रों की कुल 

संख्या ज्ञात कीक्तजये।

A. 840

B. 1240

C. 1680

D. 1480

E. None of these
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